PP

'
|
o

105# 2434 [ 3 % 33— 5T B33 R5L 120940 .
(F &)
Ex T G X
] AR
# P IERATFEFRY
LHEPERF 2P )i
RIOFTURTTIFE R
OF L)AL 17 F Pk ﬁ{iﬁﬁg FEEIEA B ALY 0 WA FEH 0 A A0 .
SRR EEY EE AR SN

— N =

FEETAGRAIF ORI (RS G AFE AN  ERRR D BB
3 % 4w BT~ 0 ) (F LRI04 0 £ 304 )
(B3 2015 # 6 * 30 p ¢ & 42{7 N IpA g3 7 2 £ Hp 'L o i (coupon bond)
#74 (5) FATER 200 0 K55 HTAE R 10000 %0 g 5
28 SRETE ;; Bk BRI L G FF 5 0.625% BB BT 5 0.650%:
B IS RIS 5 0.500% 0 il S0 1F 5 0.620% » 3R 2 B AIF R 2
7 H

|

x\“\ ‘-\P‘i

COEEFEAF LRI R0 A EE T AL T HANEHRIIT 4
Cig?

OaFg#iEs ¢ L RFEASL G XD FPIFELTH 52016 & 6 130 p oo
F 7 flF (yield to maturity) " % 04% > $##FF %G FTAA 7 0 €24 F
AJIFAFT AL 220G 5 - 2RSS (rate ofreturn) FY " ? [ o
EIRFIEF L 5T

O?PLAEFZLRT - KAEAESE (7 ) #4154 3% 2 2% kR Flsc
Fragie e A B AL P S HERHF I S%EL 0% AP ARMEEDLRE
g3 F & EM G R

~3w BT A B A B $02 ik (asset price bubble ) R AT o (& [ 3L 10 A 0 £ 20 4 )

&5 A B RME - ZELARFE AL 5T R T RN g E T
4—»’%@1“;};‘» CENTIVI o R ps A

ﬁ%ﬁﬁﬁﬁaiﬁﬁUJBihiwﬁf BrAmARGE RIS L 7 b AN
L ARSIEER A = o VI N —‘f—.ﬁ,\j\:}»r’ﬁ;] }?}‘%’fé@/%%" ?



105% 2334 B 3 & 43— %P %4 FEFEE 5120940

i

£ Bl IR &
P P E R
F RN SEEE ¥

SRR RO 2P e 2 RAES (1) FE A (Y) R

1@,r@%%1km%%ﬁﬁﬂ% ERA %k o

BORAeA S P A RS s 2 iR E- s A N A

2 FAsA~ W b A AR s 2 SR TR s & B I R
ﬁ@{ﬁﬁwiPﬁ’éﬂ%*’i%i%iéﬁfﬁ’éﬂ%ho

By FEREEFTRARD > AEFEFT 7 v B ZBRRY - A

FAETAEEBADE R 27 BEARAETA N L BADE BRI ?278-
A P ORI  REAE R AGD ) FHE? BRAEFT 0 2 K
Rt £ gk i (4B 0 (20 &)

e
% AS
31?:
1o
¥
AD
Y* ANY

?‘;j'r%-\:b%;“ @]\f‘:}&%ﬁ.ﬁ:{‘_i’?ﬁiﬂ' » W E TR o (#4210 & 0 £ 30 &)
AR A NEE I C=Cata(Y-T)
FERA NS I=1,Pr
Rl F G=Gy
FeRFT T=Ty
e S X=X, —or
’PéﬁtﬁM kh+nY+6r
44 ?'ﬁi: Fﬂ_ﬁ_qu;};‘l;m %ﬁ‘? :%‘I':I'A

\\,1 W’?
T ;ﬁ
o
)
>%
k

Le Ca (p#EARFF ) IA(B’M“*%»;') Ga (B #FEFHd 7 ) TA(B»«%
Brcffle )~ Xa (B 8o )My (p e ) rA(“‘J”—fQﬁEJm‘*’F’?
PG 35 A Y (FFHE) SR Gllca P o 05 1 #ic

O~ WP a~Bro M0 HiE g MY L 8EE L QIER F dwrtiirnk B
L {E* %{ﬁj T o AT RPEF Y FRPE AL

S)E% Co=6 ¢ ~ \1A=3 A NGA=4 A NTr=4 A X =6 s M =20
A 1a=2%=0.02~a=05~B=100~86=50-1=03~0=50" B 7 FFA 1)K
ﬁé%*w%?ﬁaﬁﬁiﬁﬁﬁﬁﬁﬁ@§’BHXA,6“%“34U£’
Mpyd 2628 1-v 28 [\d 3°VArT 200 A, Y Rioged k% 5 5
LR BERT WY RS FUET R (DM Ao s A R(2)° L EE L o R
B xR EE > FHES X)) ISR NGy FH AR RS 2(2) ¢
LAUT RS ErrER 502



